Polymak’

PM38MDAC wacnercoriLL

Max Drilling Capacity: ~38mm
Magnetic Adhesion:  14500N

No load speed: 0-650r/min
Fixture: weldon19.05
Power: 1620W
Weight 12KG

tgr 40
rél

é

www.polymak.co.in

Polymak’

pm3smoac SPARE PARTS LIST

No Parts Name SeriNo INR No Parts Name Pcs | SeriNo INR
1 | Spinde 38 | Rack
42¢ Circlip 39 | M6*10Screw
3 | 6004 Bearing 40 | Iron Bar
4 | M50 Nut 41 | M3 Nut
5 Gear Box 42 Name plate
6 | 6003 Bearing 43 | Cirlip+Fiat Pad
7 | Flat Gear 44 | Bearing 6903
8 | 17#Cicip 45 | M5*16 Adjusting Screw
9 | 608 Bearing 46 | M5 Adusting Nut
10 ‘Small Cluster Gear 47 Bracket
" 608 Bearing 48 M6*25 Screw
12 | 698 Bearing 49 | Magnetic Base
13 | Big Cluster Gear 50 | M6'55 Screw
14 | 608 Bearing 51 | Name plate
15 | Medial Plate 52 | M35 Screw
16 | 6001 Bearing 53 | Swich
17 | 28# Circlip 54 | Govemor
18 Amature 55 Fuse
19 | Air Deflector 56 | MagnetSwich
20 | 460 Nut 57 | LightIndicator
21 | Field Coil 58 | M12Connector
22 608 Bearing 59 M16 Connector
23| Field Coil Housing 60 | Iron Ring(Right)
24 | Bush Bracket 61 | LitSpindie
25 | M4*10Nut 62 | LiftBar
26 | Carbon Brush 63 | Bakeite Ball
27| Coil Spring 64 | Cable Seeve
28 | 4# Spring Pad 65 | PowerCord
29 M4*10 Nut
30 | Back Cover
31 | M50 Nut
32 | Cable Connector
33 | Cap
34 | M40 Nut
35 | M610 Screw
36| Alumimnm Bracket
37 | M5'25 Screw




